Temporal Difference Learning as Gradient Splitting

A. Proofs of Theorems 1 and 2

In this section, we present the detailed proof of the main
results of our paper, i.e., Theorem 1 and 2. We begin with
the proof of Theorem 1.

Before the proof, we introduce some necessary notation.
Let ¢ be the feature vector of a random state generated
according to the stationary distribution 7. In other words,
¢ = ¢ (sx) with probability . Let ¢’ be the feature vector
of the next state s’ and let r = r(s,s’). Thus ¢ and ¢’ are
random vectors and r is a random variable. As shown in
Equation (2) of Bhandari et al. (2018), g(0) can be written

g(0)=E[¢pr]+E [¢p(v¢'—¢)"]0

With these notation in place, we begin the proof of Theorem
1.

Proof of Theorem 1. Recall that 6 is the unique vector
with g(6*) = 0 (see Lemma 6 in (Tsitsiklis & Van Roy,
1997)). Consider

§(6)=5(6)—g(6")=E[9(v¢'—¢)"] (6 —6).

To conclude that g(0) is a splitting of the gradient for a
quadratic form f(0), we need to calculate the gradient of
f(0). Let us begin with the Dirichlet norm and perform the
following sequence of manipulations:

(13)

Vo — Vo- lIir
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-~ Zn’ — Ve (s))?+ = Z (s —Ve(s)?
sES seS
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=[IVe —Ve-lh— (6 —0")TE 60" | (6 - 6"). (14)

In the above sequence of equations, the first equality is just
the definition of Dirichlet seminorm; the second equality
follows by expanding the square; the third equality follows
by interchanging sums and the definition of Vj; the fourth

equality uses that 7 is a stationary distribution of P, as well
as the definition of ¢ and ¢’; and the final equality uses the
definition of the || ||p norm.

Our next step is to use the identity we have just derived to
rearrange the definition of ||V — Ve« |3

Vo —Veo-llp = (Vo — Vo)
=(6— 9*)Tc1>TDc1>(e - 9*)

=(0-69" Y n(s)d(s)9(s)
seS

=(6—-6)"E[p9"](6

"D(Vy —Ve-)

"(6—-6%)
6°). (15)

We now use these identities to write down a new expression
for the function f(6):

£(8) =(1—7)[[Ve — Vor |Ib + ¥I[Ve — Vor [Bie
=(1-7)||Ve — Vo:|IB
+7 (Vo —Vorllp— (6 —06")E [9¢"] (6 —6%))
=[[Vo —Vo:|[5—7(6 — ") E [99"] (6 — 67)
=(0—6")"E[p9"](6 —67)
—Y(0—06")"E[p¢""] (66"
=(0—6")"E[p(p—79")"] (6—67).

In the above sequence of equations, the first equality is
just the definition of f(6); the second equality is obtained
by plugging in Eq. (14); the third equality is obtained by
cancellation of terms; the fourth equality is obtained by
plugging in Eq. (15); and the last step follows by merging
the two terms together.

As a consequence of writing f(0) this way, we can write
down a new expression for the gradient of f(0) directly:

vf(6)=(E[9(6—78")]+E[(¢—19")0"]) (6—6").

(16)
Combining Equations (13) and (16), it is immediately that
—g(0) is a splitting of V£(6). [ ]

We next turn to the proof of Theorem 2. Before beginning
the proof, we introduce some notation.

The operator T*) is defined as:

(T(A)J> (s)
Z A"E

Z Sz,Sr+1)+V" J(Sm—o—l)|30—s:|
an

for vectors J € R". The expectation is taken over sample
paths taken by following actions according to policy u;
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recalling that this results in the transition matrix P, we can
write this as

TMg

Z Z,mz’)/PtR—‘r 1_ ) i Am’merle+lJ.
m= m=0
(18)

‘We next devise new notation that is analogous to the TD(0)
case. Let us denote the quantity &z by x(6;,z) and its
steady-state mean by %(0). It is known that

(0)=d'D (T(’l)(CIDG)fcI)G), (19)

see Lemma 8 of Tsitsiklis & Van Roy (1997); it also shown
there that TD(A) converges to a unique fixed point of a
certain Bellman equation which we’ll denote by 6, and
which satisfies

%(0;)=0. (20)
With these preliminaries in place, we can begin the proof.

Proof of Theorem 2. By the properties of T™*) and (6)
given in Equations (19) and (17) respectively, we have

x(0) =x(0) —x(65)
~o"D (T (@6) ~ ®6) — oD (T (26;) — 265

=o’p (TW (@0) — T (96} — (6 — e;))
=|(1-2) Y A"y o ppmtio — o DD | (0 - 65),
m=0
(21

where the last line used Eq. (18).

Our next step is to derive a convenient expression for
f?A)(6). We begin by finding a clean expression for the
Dirichlet form that appears in the definition of (%) ():

2
Ve — Vor [IDirmt1
1

:5 L AP0 Vols) =V ) = Volo) 4 Vg4
= L) [V (5) — Ve (5))* + (Vo (s') Ve (+))?]
_ s,és AP (s, 5') (Vg (s) = Ve; (s)) (V9 (s') — Vg ( s/)>

S L (g ren) oo -wor

+ = Z (Z TP (s, )) (Vo(s") —Ve; (s")?

sES seS
= ¥ mP ) (Vols) — Vo () (Vols') — Ve )

s,5'€S

i Zm Vo(s) — Vo: () + 5 Z 7y (Vo (s') = Ve: (s'))?

SZS w4 (s,) (Vo s) v: (5)) (Vo(s) —V; "))

= L m(Vas) ~ Vg 5))°

B (%0 -V ) T P10 (V) Ve )
=(6-6;)7 <<I>TD<1>—<1>TDP"’“¢) (0—6;). (22)

In the above sequence of equations, the first equality follows
by the definition of the m + 1-Dirichlet norm; the second
equality follows by expanding the square; the third equal-
ity follows by interchanging the order of summations; the
fourth equality uses that any power of a stochastic matrix is
stochastic, and the P! = r; the fifth equality combines
terms and rearranges the order of summation; and the last
line uses the definition Vg = ®6.

We’ll also make use of the obvious identity

Vo —Vo: I = (6 — 6;)" &' DD(6 — ;). (23)

Putting all these together, we can express the function
FA)(0) as:

£ (6)
(1= 70| Ve — Va: |13

~+oo
—2) Y A" Ve — Vo llBiems
m=0

=(0-6;)" [(1—yk)®" DD

+(1-2) Y, Amy"'o'D(1 - P"TH® | (6 - 65)
m=0
=(0-6;)" [((1 —yk)+(1-2) ) 2.’“;/”*‘) o’ D®
m=0
—(1=2) Y Ay le'pPm e | (6 - 65)
m=0 i
_ _ox\T _ 1-2 T
=(60-6y) [((1 3/1<)+1/1_}//l ' DO
7(1 71) Z lm,)/n+1q)TDPm+1q) (970;)
m=0 ]
=(0-6;)" [®"D®
—(1-2) Y Ay lo'pPm e | (6 - 65).
m=0 i

In the above sequence of equations, the first equality is from
the definition of the function f*)(8); the second line comes
from plugging in Eq. (23) and Eq. (22); the third equality
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from breaking the sum in the second term into two pieces,
one of which is then absorbed into the first term; the fourth
equality follows by using the sum of a geometric series; and
the last equality by the definition of k¥ from the theorem
statement, which, recall, is k = (1—1)/(1—7vA).

By comparing the expression for f *) (0) we have just de-
rived to Eq. (21), it is immediate that —%(60) is a splitting of
the gradient of f(*)(0). |

B. Proof of Corollary 2

We will find it convenient to use several observations made
in (Bhandari et al., 2018). First, Lemma 6 of that paper says
that, under the assumptions of Corollary 2, we have that

llg:(8:)]2 < G = rmax +2Re. (24)

This holds with probability one; note, however, that because
the number of states and actions is finite, this just means
one takes the maximum over all states and actions to obtain
this upper bound.

A second lemma from (Bhandari et al., 2018) deals with a
measure of “gradient bias,” the quantity (6) = (g(0) —
2:(0))T(6* — 0). As should be unsurprising, what matters
in the analysis is not the natural measure of gradient bias,
e.g., 2(0) — g/(0), but rather how the angle with the direc-
tion to the optimal solution is affected, which is precisely
what is measured by §;(6). We have the following upper
bound.

Lemma 1 (Lemma 11 in (Bhandari et al., 2018)). Consider
a non-increasing step-size sequence, 0o > 0j = --- > 0.
Fixanyt <T, and set t* = max{0,t — t™*(ar)}. Then

EIG(8)] < G (4465 (ar)) o

With these preliminaries in place, we are now ready to prove
the corollary. The proof follows the steps of (Sun et al.,
2018) to analyze Markov gradient descent, using the fact
that the gradient splitting has the same inner product with
the direction to the optimal solution as the gradient.

Proof of Corollary 2. From the projected TD(0) recursion,
for any ¢,

16" — 6141113
= 6" —Proj@(et—&—a,g,(et)) 13
<16 — 6, — (6,13
=|6"— 6t||2 —2048:(6,)" (6" - 6,) + a,2||gt(9,)||%

=[16" - 6,3 — 2 [g(6:)" — (g(6/)
+ ot [|g:(6:)13

—8(6))"] (6"~ )

<|6"— 65— 20:3(6,)7 (6" — 6;) +20:(6,) + &> G>.

In the above sequence of equations, all the equalities are
just rearrangements of terms; whereas the first inequality
follows that the projection onto a convex set does not in-
crease distance, while the second inequality follows by Eq.
(24).

Next we use Corollary 1, rearrange terms, and sum from
t=0tor=T-1:

Z 204E [(1—7)[Vo- — Ve, |5+ ¥IIVer — VeIl
- T—1
Z E[|6* =65 —E[|16" - 6i11]3]) + ) &G
=0 t=0

T7

Z E[(6))]

- T—1

=(l6*—6ol3-E[|6* —6r]3]) + ) G
t=0

T-1
+ ;) 204E[(6)]

T—1 T-1
<[|6* —6oll3+ Y. 20E[5(6)] + Y. 7G>

=0 =0

Now plugging in the step-sizes o = --- = oy = 1/v/T, it
is immediate that

T—1

Z E [(1=)[Ve: = VeIl +¥IIVe: — Ve Ii]

\F :

ST(HB —al3+a) + X EG(0).
=0

Using Lemma 1, have that
T—1 T—1 _
Y E[LO)<Y ¢ (4+6rm(aT)) -
=0 t=0
= VTG (4+ 6T (1/\FT)) .

Putting all this together and using the convexity of the func-
tion f(6), we can bound the error at the average iterate
as:

E [(1=9)[Ver — Vo, 5+ VIIVer — Vg, lIir]
1 T—1
ST Y E[(1=9)[IVe: — Va5 +VlIVe: — Ve, IIi]
=0

_ler— 63 + G* N G? (4+67™* (1/VT))
- 2VT vT

116" — 0[5+ G* (9+ 122™* (1/VT))

— Wex ,
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C. Proof of Corollary 3

Before starting the proof, we will need a collection of defi-
nitions, observations, and preliminary lemmas. We organize
these into subheadings below.

The Dirichlet Laplacian. Let L = (L(i, j))uxn be a sym-

metric matrix in R"*" defined as

L) = { Zilﬁ\L(z‘,i’ﬂj

It is immediate that the diagonal elements of L are positive
and its rows sum to zero.

ifij
ifi=j

Furthermore, it can be shown that for any vector x, we have
that ||x||3,, = x” Lx. Indeed:

xLx = Xn: [Z —% (miP(i, j) + 7P (j,0)) x(i)x())

=Rk
+ (;; (%P (i, j) + 7;,-p<,-,,-))) x(i)2]

- ; (PP, j) + (i) (x(i) — x(j)

_ ; Zu % (mP(i, /) + P(j.0)) (x(0) —x(j))?
_ ;w_ew 7P, ) (x(D) = x())* = [*lIBr-

Connection to the reversed chain. We remark that the
matrix L is connected to the so-called “additive reversibi-
lization” of the matrix P, which we explain next. For a
stochastic matrix P with stationary distribution 7, it is natu-
ral to define the matrix P* as
()

P = P

[ LJ T (l) JU
It is possible to verify that the matrix P* has the same station-
ary distribution as the matrix P (see Aldous & Fill (1995)).
Intuitively, the equality

m(@)[Pij = 7(j)Pji,

means that it is natural to interpret P* as the “reversed” chain
of P: for all pairs i, j, the link from i to j is traversed as
often under the stationary distribution in P* as the link from
jtoiin P.

It can then be shown that the matrix Q = (P + P*)/2 is
reversible (see (Aldous & Fill, 1995)); this matrix is called
the “additive reversibilization” of the matrix P. It is easy
to see that 0 =1 — D~ 'L indeed, both the left-hand side
and the right-hand side have the same off-diagonal entries

and have rows that sum to one. Because Q is reversible, its
spectrum is real.

The matrix D~'L is clearly similar to the symmetric ma-
trix D~'/2LD~'/2 and thus has a real spectrum, with all the
eigenvalues nonnegative. Moreover, D~'L has an eigen-
value of zero as D~'L1 = 0. As a consequence of these two
observations, if we denote by r(P) the spectral gap of the
matrix Q, then we have

1 1
TR0 )

An_1(D7IL) ’
where A4, 1(D'L) is the second smallest eigenvalue of
D'L.

r(P)

Equivalence of norms on 1+-. We will need to pass be-
tween the || - ||p norm and the || - ||pjr norm. To that end, we
have the following lemma.

Lemma 2. For any x with (x,1), = 0, we have that
2 2
Xl < r(P) /I
Proof. Indeed,

xR
(x1)p=0 ||x[|3,

AL _ (x,D7'Lx),
= min = mm —F—F
<X-,1>D:0 <X,X>D <x,1>D:0 <X,X>D

We next observe that the matrix D~ 'L is self adjoint in the
(-,-)p inner product:

(x,D"'Ly)p =x"Ly = (D" 'Lx,y)p.

Since the smallest eigenvalue of D~'L is zero with asso-
ciated eigenvector of 1, by the Rayleigh-Ritz theorem we

have < X >
x,D7 " Lx

) D _ —1
7<x,x>D An—1(D7'L).

Putting it all together, we obtain

min
(x,1)p=0

[
/13,
where the last step used Eq. (25). This completes the
proof. ]

> A (D7'L)y=r(P)7 !,

Error in mean estimation.

Recall that we set V- be an estimate for the mean of value
function in Algorithm 1. Our next lemma upper bounds the
error in the estimate Vr.

Lemma 3. Suppose that Vr is generated by Algorithm
1 and V = ©'V denote the mean of value function. Let

fp = max {t € Nltg < 2¢™ix <+> } Then, fort > t,

2(tp+1)
we have
r2 ,.L.mix 1
A oN2 max 2(t+1)
e[(0-] <o Bt i)
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Proof. By the definition of V; and A; given in Algorithm 1,

we can write the recursion:

. A 1 [- _
Vi :1 _t,y = m {Ar (rtAtl):|

Do+ (1,
T \a=y )

We next use this recursion to argue:

£[0-

el (o (g ) e)
h =y !

2 r . N _
+E 1 m*Vt—l (Vi1 —V)

[ - =2 1 It 0 ?
2| (-7 + e (75 )
VE 2 [ 5

t+1\1—vy
_ [ 2 2 1 It A 2
=k (1 t+1>(v’ =) +(t+1)2<177 V’*l) }

2 7y _\ A _
+E{t+—l(l_y—v) (V,,l—V)} (26)

To bound the second term on the right-hand side of Eq. (26),

we will use that, since rpax is the upper bound on absolute
values of the rewards, we have that

T v 2< rmax+rmax 2_ 4rrznax
-y ) S \i—y T1—y) T O-p?

We next analyze the third term on the right-hand side of Eq.

(26). Let 7, = ™M ( !

2(z+l)> so that for any state s”,
n

Z ‘PT'(S//,s)

s=1

1
— 7'Cs| = 2dTv(PT'(S”,~) ) < 2mpT’ < —

t+1°
27
‘We have that
T N )
e
o i
=E (l—y V) (Vz 1 =Vici—g + Vi1 g V)}
- . i
=E ( V) (Vz /e 1:,):|

_v> (V1 s —\7)} .

We now bound each of the two terms in the last equation
separately. For the first term, we have

[y ]

where the last inequality follows from ¢ > 27; (which in turn
follows from ¢ > 1y).

For the second term, we denote the following sigma al-
gebra ' denote the sigma algebra generated by the infor-
mation collected by time ¢, i.e., by the random variables
50,70, 60, 5,7, 6;. We then have that

|(59) Oee-7)
~V)lx'~ H’”

<
$ (2?/1P<s7s'>r<s,s'> ) )

(‘7#14, - ‘7) P (Sll‘l.'tvs)‘|
li (Z, 1 P(s,s")r(s,s") ‘_/)
s=1

-Y

(thlfr, *‘7) (PTt (Stflfr,as) -

R

(‘7#171: - V) (P%(s1-1-5,,5) — ES)‘|

Ty + Try)

+E ( Y P(s,s")r(s,s") —V) (‘Z—l—r, _‘7) 7,
s=1 1—’)/
Yo P(s,s")r(s,s) _)
=F -V
[21 ( 1=y

(Vr1g = V) (P (s5m1g05) — m)]

) o n_ P(s,s)r(s,s’)
+E[(vt1f,v>]2( = 1(_;( )V)”“'

§=

—E [i (2/:11’(&5’ r(IS,s’) _‘_/)

Iy
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(thlfr, —V) (P (S1—1-1,,8) —75) | +0

L,
“(1=p2+1)

Here the first equality follows by iterating conditional ex-
pectation; the second, third, fourth, and fifth equality is just
rearranging terms; the sixth equality follows from Eq. (12);
and the next inequality follows from Eq. (27) as well as the
fact that all rewards are upper bounded by ryax in absolute
value.

Combining all the inequalities, we can conclude that as long
as t > ty, we have that

£[-o
5 - l‘rrznax
= (l‘til)E [ =7)’ +O(<1—;>2<r+1>2>'

2
Letb;, =0 (&’Eﬁ), then the above equation can be com-

pactly written as

- (1- 757 ) e[ -0+ e

Let C; = max {(to +1) (Vi — \7)2 ,b,}. We will prove by
induction that ¢ > fg,

A —\2 CZ‘
E[ V-V } < =
N s
Indeed, the assertion holds for t = fy. Suppose that the
assertion holds at time ¢, i.e., suppose that E {(\7, -V) 2} <

C;/(t+1). Then,

E [(V’H_V)Z} = (l_t—|2—2> titl + (tft2)2

_ G (_ 2 ) G + by Gy

t+2 t+2)1+1  (t+2)?2 142

G422 =2G(t+2)+ b (t+1) =Gy (t+ 1)(1+2)
(t+1)(t+2)2

Gt

t+2
_(Ct —C) @+ 1) +2)+ (b, - C)(t+1) -G
N (t+1)(t+2)2

Ciy

t+2
<Ct+17
Tt+2

where the last inequality follows because C; < C11, by < G
and C; > 0. Therefore, we have that, for ¢t > 1,

N C
efl0-0] <5

N — r2 . o1
Since (V;, — V)2 < 4> with probability one, and by def-

2
P max 1 — T max_
inition 7y < 27 (2(z0+1)>’ we have that G; = O <(1,y>z)

for t > 19; this completes the proof.

With all these preliminary lemmas in place, we can now
give the main result of this section, the proof of Corollary 3.

Proof of Corollary 3. By the Pythagorean theorem, we
have

V7 =VI5=lIa"vil =2V +IVy o= Viah, 28)
where V; e V). are the projections of V7, V onto 1+ in the
(-,-)p inner product.

Recall, that, in Algorithm 1, we defined
V=V, +1(Vr—a"Vg).
Therefore,
Vil =n"Vy 1+7"1(Vr — 2"V )1
=a'Va 1+Vr1—x"V 1
=Vrl.
Plugging this as well as V = 77V into Eq. (28) we obtain:
V7 =V = 1Vr1=V1E+[Vy = Vyelh 29

For the first term on the right hand side of Eq. (29), by the
definition of the square norm under 7, it is immediate that

V1 -V} =Y m(Vr — V)2 = (r - V)°.
i=1

For the second term on the right hand side of Eq. (29), we
have

||V7/~71J_ _VliH%
=|Viqr = Vo o + Ve yr =Vielp
<2Vy o = Vo i lb+20Vee o =Vl
<2r(P)|IVy 11 = Ve 1o B +2[IVe = VIID
=2r(P)||Va, — Vo I +2[IVer — V5,

where the third line follows by the Lemma 2 and the
Pythagorean theorem and the fourth line comes from the
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observation that || - [|p; does not change when we add a
multiple of 1.

Combining these results and taking expectation of Eq. (29),
we obtain

E[|Ivi =Vl
<E [(Vr = V)] +2r(P)E [||Vg, — VorIs]

+2E [||Vor — V|13]
o ,L-mix (ﬁ) rrznax
B (1—y)*T

* 2 mix 2
+r(P)- 6% — 603+ (9+ 127™* (1/VT)) G |

wWT

where the second inequality follows by Lemma 3 and Eq.
(11) from the main text.

On the other hand,
E[|V;=VIp]

+2E [||Vo = V||3]

(30)

A

(Pr ="V, ) 1]
—2E [(z"V—2"Vg) (Vr — 7" Vg, )]

=E (Ve —VIB] +E |

—E (Vg ~VIB) +E || (7r = 2"V, ) 1][)
—2E[(V—x"Vp,) (Vr—7"Vg, )]
—E Vg, ~VIB] +E [ (V7 — 27V, )]

—2E [(Vr = 2"V, +V =Vr) (Vr — 2"V, )]
—E Vg, ~VIB] - E [ (Vr — 27V, )]
+2E[(Vr =V) (Vr — 7" Vg, )]

<E[||Vg, —VIp) —E _

(VT — ﬂTVgT ) 2:

+FE |:(‘A/T _‘7)2+ VT — ETVQT)2:|

—E (Ve —VIB] +E [ (7 - )]
<2 [||Vg, — V3] +2E [|IVe: — V3] +E [(VT —\7)2}

_2[l18" = Boll3+ (9+ 12e™ (1/VT)) &*]
- (1=yVT

2 mix 1
Tmax T (2(T+1)>

(1-7)?T

Here the first four equalities come from rearranging; the
next inequality comes from the identity 2ab < a® + b?); the
next equality comes from cancellation; the next inequality
uses |[u+v|[3 < 2||ul|3 +2]|v||3; and the final inequality
uses Corollary 2 and Lemma 3.

+2E [V« — V3] + 0 (31)

We have just derived two bounds on E[||Vy. — V||3], one in
Eq. (30) and one in Eq. (31). We could, of course, take the

minimum of these two bounds. We then obtain:

E[|[Vr =Vl

<2E [|Vo- —V|}] +0
% 2 mix 2

-+ min r(P).He B3+ (9+127 (l/ﬁ))G,
WT

216 — Boll3+2 (9 + 12¢™* (1/VT)) G
(1=1VT '

Therefore,

E[IVi - Vi3]

(1—=y)?T
18" =G0l + G2 [1+ 7 (1/VT)] Amm{@ L}
VT y l=v)

and the proof is complete. ]

<2 [|Ve- ~ VI +0 (

T (%H) rr2naX>

D. Error Bound for TD with Eligibility Traces

We now analyze the performance of projected TD(A) which
updates as

041 = Projgl (et + at6t2t); (32)

where we now use

1
a =Y (YA) 9 (si-)-
k=0
We remark that this is an abuse of notation, as previously z
was defined with the sum starting at negative infinity, rather
than zero; however, in this section, we will assume that the
sum starts at zero. The consequence of this modification
of notation is that Theorem 4 does not imply that —E[z] is
the gradient splitting of an appropriately defined function
anymore, as now one needs to account for the error term
coming from the beginning of the sum.

We assume ®; is a convex set containing the optimal so-
lution 6;. We will further assume that the norm of every
element in ®, is at most R, . Recall that

We begin by introducing some notation. Much of our anal-
ysis follows (Bhandari et al., 2018) with some deviations
where we appeal to Theorem 4, and the notation bellow
is mostly identical to what is used in that paper. First, re-
call that we denote the quantity &,z by x(6;,z,). We define
£(6;,7) as a random variable which can be thought of as
a measure of the bias that TD(A) has in estimation of the
gradient:

Ct(9t7Zt) = (f(et) - 5tZt)T(6;T — 9;)
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Analogously to the TD(0) case, what turns out to matter for
our analysis is not so much the bias per se, but the inner
product of the bias with the direction of the optimal solution
as in the definition of & (6;,z).

We will next need an upper bound on how big [|x(0,z)]||>
can get. Since under Assumption 2, we have that ||@(s)]|]2 <
1 for all s, we have that

< .
Il < =7

Furthermore, we have that
18| = |r(s,s) + v (s)"

where we used |r(s,s")| < rmax as well as Cauchy-Schwarz.
Putting the last two equations together, we obtain

6 — 9(5)" 6| < rmax + 2Ry,

rmax—i—ZR;L L

<
(8,20 < e

G,. (33)
Compared to the result for TD(0), the bound depends on
a slightly different definition of the mixing time that takes

into account the geometric weighting in the eligibility trace.
Define

() = max{TV(e), M (e)},
where

t™C (&) = min {r € NoJmp' < e},

™8 (g) = min {r € Ny|(yA)' < &}.

The main result of this section is the following corollary of
Theorem 2.

Corollary 4. Suppose Assumptions 1-2 hold. Suppose fur-
ther that (6,),>¢ is generated by the Projected TD(A) algo-
rithm of Eq. (32) with 605 belonging to the convex set ©)

=or = l/ﬁ Then

165 — 60|13 + G5 [14+ 287 (1/VT)]
2T ’

)(0) was defined in Theorem 2.

and step-sizes Oy = - -

E[sM(0)] <
where the function f*

Proof. We begin with the standard recursion for the distance
to the limit:

165 — 611113
=|16; — Proje, (6, + 248,23
<[16; — 6, — &z |13
=65 — 65— 20,62 (6; — 6:) + & | &z 5
=16; — 65— 24 (x(6)" — (x(6)" — 5rZrT)) (6, —6)

+ o | 8,z3

=165 — 6,13 — 204 (x(6,) —%(65))" (65 — 6)
+204(61,20) + 0| |x(61,2) 3

=165 — 6113 — 204 (1 —vK) Ve, — Vs I

Z )Lm’)/n+1||vet V@ ||D1rm+l
m=0

+20,6(6r,20) + 07 |x(6,20) |13
<[165 = 61113 — 204 (1 = vK) | Ve, — Vo: 1

=

—204(1-2) ) A"y Ve, —Ve;”zDir,mH

m=0

+2048:(6,2) +at2G%L-

In the sequence of equations above the first inequality fol-
lows that the projection onto a convex set does not increase
distance; the remaining equalities are rearrangements, using
the quantity X(0) defined in Eq. (19), that X(6; ) = 0 from
Eq. (20), and Proposition 1; and the final inequality used
Eq. (33).

We next take expectations, rearrange terms, and sum:

T—1
Y 200E | (1= 7%)[|Va, — Ve I3
t=0

+22a, [1—

T

Z )Lm’)/”+l ||Ve, - VOI ||]2)ir,m+1‘|

m=0
1
(Elll6y

< — 6,121 - Ell165 — 6:41113])

M

t

204E[&(60r,2)] + Z o7 G5,

H[\ﬂﬂ s

(H %m—mm—ww
T-1

+Zﬂﬂﬁﬂm<+2%§
t=0 t=0

— T—1
<165 — 6oll3 + Z 20E[G(6,2)] + Y. oG5
=0 t=0

Plugging in the step-sizes 0t = - - - = o7 = 1 /+/T, we obtain

T-1
Y E (1= )V — Ve 3]
t=0

T-1 oo
+ Z E|(1-2) Y 2"y"|ve, Ve;lzmr,mﬂl
= m=0

\/> T-1
2

< (ll65 — Wmﬁa+ZEQ%M

Using Lemma 20 in (Bhandari et al., 2018), we have that

T—1
ZéE[Ct(Gt»Zt)]
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207 )

<oVT (142 (or)) Gi+ ¥ (1A)G}
t=0
<6VT (1+2e7™(ar)) G + (267 (ar) +1) G5..
Combining with convexity, we get

E (1= 70)]1Ve; — Ve, I3]

+E|(1-2)) lemHHVoz _VéT|%ir,n1+1]
m=0
1! 2
< L E[(1-7)[1Ve ~ Ve 3]
t=0
1 T—1 N 1 2
+7 Y E|(1=2) Y A"y Ve, —Vor I biesmr1
=0 m=0
NI6; —&l3+ G,
- 2VT
. 6v'T (1422 (7)) G2 + (2™ (0tr) + 1) G2
T
1163 — 6oll3 + GF (14 428" (1/VT))

2VT



